Choose the correct answer to complete the sentences.

1) They married for five years.

( are > ( have been > C e )
2) She her keys. She can't find them anywhere.

C loses > ( have lost ) C has lost )
3) 1 to New York twice.

C have been > ( was ) C am )
4) She English for two years.

C studies ) (has studied) ( studying )
5) He to Paris last summer.

C has been > ( goes ) C went )
G) | can't believe it! | my phone at home.

C have left ) C leave ) C leaves )
7) they a new car recently?

(have/boughD ( did/buy ) C has/buy )
8) The children their homework yet.

C did > (haven't done) C have done )
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